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Place Value

Which symbol completes this
number sentence?

10 321[ [1321

x and +

Use a written method to solve this
calculation:

8471 x 8 =

Problem Solving
Identify the square numbers:

4, 6, 9, 15, 16, 27

+and -

27524 +3000= ]

10 000 -3900 = [ ]

Fractions

Subtract these
fractions:

SR

1
10 5

Reasoning

If I count on a number
line from -12 to 5, the
difference will be 7.

Is Henry correct?
Explain your reasoning.
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Place Value

Write the number CCXXXI in

numerals. ﬁ

x and +

Use a written method to solve this
calculation:

64l + 14 =\3¢

Problem Solving
How many sides are there in total?

AL

+and -

Use column subtraction to solve this
calculation:

1034 116 - 202 794 =

Fractions

What number is 8‘]
hidden in these

equivalent fractions? %

Reasoning

1f I count on from 15 in
steps of seven, I will say
the number 50.
Is Alison correct?

Explain your reasoning.




